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run_13093014 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Mon Apr 2 13:50:07 2012
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run_13093014 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Apr 2 13:49:34 2012
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run_13093014 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Mon Apr 2 13:48:00 2012
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run_13093014 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13093014 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Mon Apr 2 13:50:10 2012
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run_13093014 FGT _ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13093014 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
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run_13093014 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13093014 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Mon Apr 2 13:50:16 2012
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run_13093014 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13093014 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13093014 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13093014 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13093014 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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Mon Apr 2 13:48:38 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

ADC-ped

o

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=13 _§

ADC-ped

=

oF-

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=14 _§
—

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=15

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=16 _§

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=13

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=0,APV=14

" 1
100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=15
- 4000 p—
5] = . . .
o = 2
Q 3500 F=— -
< =
3000 f— -
2500 =
2000 f=—- ==+
=
1500 f=——
1000 f=—-- - - - -
=
=
500 f=—
=
==
=
= 1
0 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13093014 FGT _MPV_1,Timebin=2,Disc=1,asmb=1CD

Mon Apr 2 13:49:47 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

20 40

APV channel

1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i
100 120

-500

20 40

APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

100

20 40

APV channel

MPV (ADC-ped)

-500

100 120

APV channel

20 40




run_13093014 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Mon Apr 2 13:50:21 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

g 220

e =
9] 200

2 =
53 180 f=
%)

2 160 =

140 :
120
100
80 =—
60 f—

40

20

. . . . ;
0 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

= 140 [
3 —
& —
8 b—
2 120 P
12}

=

x 100

80 |r

60 [

40

20

0

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

B9 [E=—=ccococoosom000059a097050005505505050005505 9750000 50505505000550 59450500059 50550509050 05505 3P 0000505055050 0505059 450505695053050505 5550535050550

400 e -1 -

RMS (ADC-ped)
TTT

APV channel

500

RMS (ADC-ped)

i
120
APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

i o
120
APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Mon Apr 2 13:48:41 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

o
3
5
%)
a
<
1
0 1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=2.ARM=0.APV=18 |
o
3 5 5 5
g
%)
a
<

3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=19 ]
—

ADC-ped

St
3000 40(
raw ADC

S}

ADC for FGT RDO=2,ARM=0,APV=20

ADC-ped

=

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=21 _§

ADC-ped

.

1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 =~ -~ - -1t-
< = 8
3000 f=— - - - - - o|p=odegescecssscaes -1t-
2500 = +|- - - - - B R EE TP -1t-
=
2000 = - - - - - B T -1t -
= o
1500 f=r— |- - - - - -1t-
= 8
1000 = +{- - - - - R -1t
= 8
500 = -tk sosiallie
= . 2
Of=-----~ B R e TR -1f-r
= . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
E
=
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
- 4000 p—
5] = . .
oo =
Q 3500 F=— EE TR T
< =
3000 - === seleee
2500 = P
2000 f=—y- === - - - B R
=
1500 f=—| e
1000 p=—|- - - - - - - BRI
=
=
500 fm—rt---- - - s
=
0f=—\----n- R
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=21 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13093014 FGT _MPV_1,Timebin=2,Disc=1,asmb=1CD
Mon Apr 2 13:49:48 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

-500

i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Mon Apr 2 13:50:22 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

= 140
3
2
8 120 |+
<
[%] N
2 100 F
80 f
60
40 |7
20 [r
o i i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

120

100

RMS (ADC-ped)

80

60

40

20

Bl=xEo
1

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

250 [r

200 P

RMS (ADC-ped)

150 [+

100 |-

50

. . . i . . . i
80 100 120
APV channel




run_13093014 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC
Mon Apr 2 13:48:45 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2BC

2,asmb

iIsc=

2,D

IN=

b

Ime

Mon Apr 213

run_13093014_FGT_MPV_1,T

149 2012

49

2ARM=LAPV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=1 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=1APV=2 "}

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2ARM=LAPV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=4 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13093014 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Apr 2 13:50:23 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13093014 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC

Mon Apr 2 13:48:46 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

ADC-ped

[ 1000 2000

3000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

ADC-ped

1 1 1
1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

ADC-ped

=

i | .|
1000 2000 3000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=8 }

S}

ADC-ped

1000 2000 3000

4000

raw ADC

ADC for FGT RDO=2,ARM=1,APV=9 l

ADC-ped

=

1000

2000 3000

4000

raw ADC

4000

[ADC for FGT RDO=2,ARM=1,APV=5_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

=

=

=

=

=

=

=

—

=

=

=—

= . . i . . . i . . . i . . . i . . . i . . . i

0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

APV channel

[[ADC for FGT

Py
]

0=2,ARM=LAPV=8_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Mon Apr 2 13:49:49 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13093014 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Apr 2 13:50:23 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

450 =
400

350

RMS (ADC-ped)

300
250
200 |5

150

100 - :
'J— i i 1 1
0

i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=7 }
120

RMS (ADC-ped)

N N i
20 40 60 80 100 120
APV channel

80 P—

70

RMS (ADC-ped)

60 |
50
40
30

20

10

i i
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Mon Apr 2 13:48:50 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

5
3 8
4 2
& 2
Q 2
<

1

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=13 |
- T
3
[
Q o o

1

0 1000

[ ADC for FGT RDO=2.ARM=1.APV=14 ]
—

2000 3000 4000

raw ADC

ADC-ped

=

1000 2000

[ ADC for FGT RDO=2,ARM=1,APV=15

|
3000 4000

raw ADC

ADC-ped

=

0 1000 2000

ADC for FGT RDO=2,ARM=1APV=16 _§

3000

4000
raw ADC

3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=L,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© BT R R A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

A A A

" 1
100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAARNAGRARRIATENATRNATENAG]

1
120
APV channel

20 40 60 80

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

a4 .4 .4 N d Bl

10

10°

10°

10"

10°

10"

10

10

10

10"




run_13093014 FGT _MPV_1,Timebin=2,Disc=2,asmb=2CD
Mon Apr 2 13:49:51 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

500

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
Py v I O IO Wl I o e R el IR Y R ey s O o S 1 = O ol IS
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

i . . . . . A
Q

20 a0 0 a0 100 120
APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Mon Apr 2 13:50:24 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

" " " " " " " " " " " " " " 1 " " " 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

45 [
40
35 =
30
25
20

15 p—

10 P=
5=
o EE i i i i i i
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

RMS (ADC-ped)

800
700
600

500 [+

300
200

100

1
120
APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Mon Apr 2 13:48:53 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13093014 FGT _MPV_1,Timebin=2,Disc=2,asmb=2CD

Mon Apr 2 13:49:52 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Mon Apr 2 13:50:25 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Mon Apr 2 13:48:55 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

ADC-ped

=

[ 1000 2000

[ADC for FGT RDO=2,ARM=2,APV=1 }

3000

4000
raw ADC

ADC-ped

=

1000 2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

3000 4000

raw ADC

ADC-ped

=

0 1000

[ADC for FGT RDO=2,ARM=2,APV=3 }

3000 4000

raw ADC

ADC-ped

=

0 1000 2000

ADC for FGT RDO=2,ARM=2,APV=4 l

3000

4000
raw ADC

ADC-ped

.

2000

3000 4000

raw ADC

[[ADC for FGT RDO

=2, ARM=2,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L A LA L L] A i

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}

APV channel

- 4000 p—=
] =
o =
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 fm—---1-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
o=
=
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Mon Apr 2 13:49:52 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

L i i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=1 }

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 : o0o505305000050505505db005052050300095053550 TR

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13093014 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Apr 2 13:50:25 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

RMS (ADC-ped)

400 f=

350

300

250

200

150

100

50

o1 it el

I
120

0

0 0

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

RMS (ADC-ped)

700

600

1
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

RMS (ADC-ped)

500

i
120
APV channel

[CADC RMS for RDO=2,ARM=2,APV=3__}

RMS (ADC-ped)

600

500

300

200

100

°‘I'Iil§| T HH[THIlIIIIlIIII

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

700

600

500

400

300

200

100

0

|'I'I11] T IH[I‘I'H]I I II[H‘I'I]1

: "

TTFF

i
120
APV channel

o-lm
| =




run_13093014 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Mon Apr 2 13:48:58 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=3BC

3,asmb

iIsc=

2,D

IN=

b

Ime

Mon Apr 213

run_13093014_FGT_MPV_1,T

:53 2012

49

2,ARM=2,APV=5_ ]

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=2,APV=6 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=2,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2,ARM=2,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=2,APV=9 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13093014 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Apr 2 13:50:26 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Mon Apr 2 13:49:00 2012

[ ADC for FGT RDO=2,ARM=2,APV=12 |
o
3
5
%)
a
<1
1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=2.ARM=2.APV=13 ]
o
3 5 5 5
[
8
<1

0 1000 2000

3000

ADC for FGT RDO=2,ARM=2,APV=14
—

4000
raw ADC

-ped

ADC.
P
o

T

1000 2000

3000

[ ADC for FGT RDO=2,ARM=2,APV=15

4000
raw ADC

-ped

ADC-
ey

0 1000 2000

3000

ADC for FGT RDO=2,ARM=2,APV=16

4000
raw ADC

ADC-ped

1

3000
raw ADC

40(

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
5] =
i =
Q 3500 fm— 1
< =
3000 f=—
=
2500 =
= 1
2000 = 10°
=
1500 f=——
1000 f=——
=
500 f= 107
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=2,APV=13 "}
- 4000 p—
g = 2 2 2 2 2 2
Q 3500 f— 1
< =
3000 f=—
2500 fm—
2000 fm/—— 10%
=
1500 f=— -
= - = o = 5
1000 pP=——
=
500 f=— P
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=2,APV=14 "}
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— 1
2 =
3000 f=—
=
2500 =
= 1
2000 fm— 107
=
1500 f=——
1000 fP=——
=
500 f=— 10?
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=2,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=— 1
< =
3000 f=—
2500 =
2000 fm— 10"
=
1500 f=——
1000 f=——
=
500 o s e s e 102
=
Of— - rreemmmmnne
= . . 8
= 1 1 1 1
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=2,APV=16 I
.- 4000 p—
5] = . . . . . .
o =
9 3500 f=—--- !
2 =
3000 f=—---
2500 f=— - - -
=
2000 = - - - 10"
=
1500 f=—- - -
=
1000 p=—- - -
=
= 2
500 p=———- = 10
=
o=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 13:49:53 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

1500 [+

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

APV channel




run_13093014 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 13:50:26 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

RMS (ADC-ped)

APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Mon Apr 2 13:49:04 2012

ADC for FGT RDO=2,ARM=2,APV=17 _§

AD%ped

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=18 _§

A[.LC‘Ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=19 |
—

ADC-ped

=

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=20

AI?__CAped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=21 _§

A[L(}ped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=17_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

[ADC for FGT.

RDO=2,ARM

=2,APV=18_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11n]1r|1|n1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[[ADC for FGT,

RDO=2,ARM=2,APV=19 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

[[ADC for FGT

Py
]

0=2,ARM=2,APV=20_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

|r|1|[|1|r|1|r|]n|1

° Tlrl'lll‘l1

80 120

APV channel

[ADCfor FGT

Py
O
O
N

p=
)
<

N
p=
T
<]

N
[
b

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

i IE RN ARERIGRL AR RGN RN AT RN AR ATENATRNAT]

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 13:49:55 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

; ; :
€Y 20 0 50 80 100 120

APV channel

= .

3 g

2 —

Q 1500 B e e e e et
< —

> [

[ —

= p—

LT e K T R R P PR R

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel




run_13093014 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 13:50:27 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

600 pi—

500 |-

300 [+
200

100

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

600 .
500
400
300 :
200

100

+ N N N N i
o 20
APV channel

RMS (ADC-ped)

600

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

600

500

300

200

100

120
APV channel




run_13093014 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
Mon Apr 2 13:49:07 2012

[ADC for FGT RDO=2,ARM=3,APV=0 } [ ADC for FGT RDO=2,ARM=3,APV=0 |

o = 4000 p—
3 5] = .
2 2 = :
%) = e R R O R R
9 Q 3500 f=
< < =
3000 = - s s s e e AEEE] R CETEE
= ]
2500 p=— - mpe o] Pl i el
= 2
2000 - s s b e e e EEREE U EE CEEE
= . 10"
1500 fm— v s e e e peem el b
2000 Pm— - s e e b
= 2
50 |==5c5000}oo000d seoco|bdbdbdsccsas
= . @
1 = . 10
() ‘=TT R CCEEE B e CEE e
il = i
0 1000 2000 3000 4000 0 20
raw ADC APV channel
[ADC for FGT RDO=2,ARM=3,APV=1 } [ ADC for FGT RDO=2,ARM=3,APV=1 }
o = 4000 p—
3 5] =
= = =
Q (o] — oo
9 9 3500 =
< < =
3000 = ..
= 2500 f— --
=
2000 = --
= 10"
1500 f=— --
=
1000 = .-
=
500 =t - )
= 10
= -
i i i . = - . . i . i . . . i . . . i . . . i . . . i
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=3,APV=2 } [ ADC for FGT RDO=2,ARM=3,APV=2 }
L - 4000 p—=
3 g = . . . . .
g g = 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
3000 f=—
=
1 2500 =
=
2000 =
= 10"
1500 f=——
1000 fP=——
=
500 f=—
= 10?
=
=
0 1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=2,ARM=3,APV=3 } [ ADC for FGT RDO=2,ARM=3,APV=3 |
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=— X
= 10
1500 f=——
1000 f=——
=
=
500 f=—
= 10?
b=
=
=
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3 APV=4 } [ ADC for FGT RDO=2,ARM=3,APV=4 "}
L .- 4000
3 5]
[ &
o 9) .
9 9 3500
< <
3000 sees
2500 a.e-
10
2000 a.e-
10"
1500 L
1000 sees
500 sees )
= 10
0 .
1000 2000 3000 4000
raw ADC APV channel



run_13093014 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Mon Apr 2 13:49:56 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Mon Apr 2 13:50:29 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

800
700 [
600 [=
500 =
400
300
200 :

100

1
120

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

350
300
250 '
200
150

100

T

50

il

0

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

700
600 fF
500 =
400 [
300
200 £

100

i
120

0

APV channel

[CADC RMS for RDO=2,ARM=3,APV=3_}

RMS (ADC-ped)

160 t
140 =
120
100
80 f—
60
40

20 |5

I
120

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

140 |
120 =
100 :
80 |
60
40 E

20

0

120
APV channel




run_13093014 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Mon Apr 2 13:49:10 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

ADC-ped

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

ADC-ped

1000

; 5
3000 4000
raw ADC

1
2000

[ADC for FGT RDO=2,ARM=3,APV=7 }

ADC-ped

=

St
3000 40(
raw ADC

i |
1000 2000

S}

[ADC for FGT RDO=2,ARM=3,APV=8 }

ADC-ped

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=9 l

ADC-ped

=

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

1000 e
500 -
i) =3 s
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm— - - - -
< =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— v - - - e e
=
() =T
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Mon Apr 2 13:49:57 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

I
=y 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

3 =
3 —
Q 1500 p—
8 g
< —
z [—
g o
] [
1000 f——
500 f—
M
L
0 b—
500 = i . . . i . . . i . . . i . . . i . . . i
Q 20 a0 AN 20 100 120

APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
Mon Apr 2 13:50:30 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

120

100

RMS (ADC-ped)

'|'I'I'I]'I'I1'I

80

60 [+

40 |

20 |

[ ADC RMS for RDO=2,ARM=3,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

100 [+

RMS (ADC-ped)

80 [+

[
60 [-
40 [

20 [+

300

250

RMS (ADC-ped)

200

150

100

50 [

T . . . ;
® 120
APV channel

RMS (ADC-ped)

i
120
APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Mon Apr 2 13:49:14 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Mon Apr 2 13:49:58 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13093014 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Apr 2 13:50:31 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13093014 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Mon Apr 2 13:49:15 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

[ 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=18 _§

o FFer
3
& |booloos
%)
a
<
10f:
1k
0 1000 2000 3000 4000
raw ADC
[_Aocrorrer roo-2aRM=3APV-19 ]
o
3
[
19)
a
<
1

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=3,APV=20 |
o
3
[
9]
a
<
1
1000 2000 3000 4000
raw ADC
ADC for FGT RDO=2,ARM=3,APV=21 _§
o
3
[
%)
a
<

=

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=3,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A

[ ADC for FGT RDO=2,ARM=3,APV=18 }

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=3,APV=19 }

" 1
60 80 100 120
APV channel

- 4000 p—=
] =
o =
Q 3500 f=— -
% =
3000 f=—
=
2500 f=— -|
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0

[ ADC for FGT RDO=2,ARM=3,APV=21 }
4000

40

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Mon Apr 2 13:49:58 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13093014 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Apr 2 13:50:31 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

300

250

RMS (ADC-ped)

200

150

100

50

°'I'I'H[HH|1I11]||I||||HIHII]I

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

i
120
APV channel

5 = T T T T T T
= 100 p——pp ="ttt A E R R R q[p=ooeescacsaacacscad hooosso0s0900055005095 fpococsc000000005090000g e REEEEE
(o] — . . . . . .

Q O

2 :

g e § EECEE PP PPPPPP e I Bddpesanaasacasseacana l|coc00000000ap000005004 Bo00can00000000060a50ad 8 000000a0000000000000d e
['3 . . i . . :

— H
o = i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

140

120 |

RMS (ADC-ped)

100 P

80
oo |
40 f—
20
120

APV channel




run_13093014 FGT_ADC_1,Timebin=2,Disc=5,asmb=5BC
Mon Apr 2 13:49:19 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

ISC=

in=2,Di

59 2012

b

:49

Ime

Mon Apr 213

run_13093014_FGT_MPV_1,T

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13093014 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Apr 2 13:50:32 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13093014 FGT_ADC_1,Timebin=2,Disc=5,asmb=5BC

Mon Apr 2 13:49:20 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

ADC-ped

=

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=7 }

ADC-ped

=

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=8 }

ADC-ped

3000 4000
raw ADC

0 1000

ADC for FGT RDO=2,ARM=4,APV=9 l

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . S . . - i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0 f=—
=
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC

Mon Apr 2 13:49:59 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

. . i
Q 20 40 60 80 100

1
120

-500

[ ADC MPV for RDO=2,ARM=4,APV=6 }

APV channel

MPV (ADC-ped)

[ADC MPV for RDO=2,ARM=4,APV=7__}

APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100

i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

i
120
APV channel

i
1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 40 ) a0 100

120
APV channel




run_13093014 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Apr 2 13:50:32 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

RMS (ADC-ped)

900

800

700

600

500

FAJFATFATFTFTAT

300

il

200

100

©[TTHHL]

i 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=6 }

RMS (ADC-ped)

1
120
APV channel

RMS (ADC-ped)

N N i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

=

900

800

700

600

i
120
APV channel

© PRI AT I PP




run_13093014 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Mon Apr 2 13:49:24 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13093014 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Mon Apr 2 13:50:01 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13093014 FGT _RMS 1,Timebin=2,Disc=5,asmb=5CD
Mon Apr 2 13:50:34 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




